SLOPE

This is the measure of steepness
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Find the slope of each line. Simplify the slope or write it as an integer if you can.

Tﬁrough each point draw a line that has the slope shown below the grid.

Use a ruler.

Through each point draw a line that has the slope shown below the grid. Use a ruler.

3 3 3 3
% 4 z z
RCCTU R 7 5

81062 by Key Curriculum Press. inc.
Do ot upiicate whout permission.

21

SLOPE FORMULA

(-3,-4) and (1,2)
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SLOPE FORMULA

(-3,-4) and (1,2)

If you do not have the graph of a line use...
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Find the slope between the two points: ] ]
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A A Find the slope between the two points:
4 S|0pe = E 1) (09 7) and (_49_1)
3 run
5 4 3 2 41 ] 1 2 B 4 4 g 2) (_2, 5) and (9, 5)
4 )
' \ 4

SLOPE FORMULA |[->

Find the slope between the two points:

3) (11,-8)and (3,4)

4) (-3,9)and (-3,5)




